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Divide conquer recursive

break list into smaller pieces cut into left right halves
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Solve a recurrence subs method

plug in smaller valves to Tn

until we establish a pattern

express Tn on its Kth iteration

i Ipink a value for k to get to beat
sort a listof

Steffy
T n T N2 T Na t n iteration 1

2 TN a

tnT1n12 T 4 tT1YtN2h
c

PlugitinTn 2 T th

2 2.51 4 1 n
iteration 2

4 Mu th th

4 Na In

T1 T18tTHtmym
Plug in

T n 4 T In
intert.in

4 2 T n8 In



8 T Ms n t 2n

8 T 8 3h

TC85 T14TT4a tff
Plugin

n 8 T 8 3n iteration 4

8 2 TIMa 8 3h

16 T Ma 4h

Find a pattern 4th iteration

Tln kn

pavers of

2

choose any value of KThf2k.TT21tknnh get to base case

42K 1
T TI

n 2k solve for K

ly both sides

Ign k Plug in K



n 2k T 2k kn k egn

219 TT 2ign Ign.n 1 I

n T mn t n Ign

n TCD t n Ign run time

n t t n gn 0 nlg m f f



2Binaysand
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binary search is go to on a sorted list
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Run time of Binarysearch recurrence
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